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1. Multiply 607 by 508

oo D033 56

Answer: aq_

2. How many minutes are there in 0.4 hours?

a4, (00 < x b
o 0 =
3. (a)Find the value of 2° x 5

129 0V

Answer: (a)

(b) Write 300 as a multiplication of prime numbers, leaving your answer in a form that

2 (!
Answer: (b) 2. X/b@

involves indices as in part (a)

500

/
59 \\0

AN
3 pab
ok
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The height of the Eiffel tower is 2.95 x 10°m. What is this in millimetres? Leave your

answer in scientific (standard) form.

2,0\§x\6 x 10

o 045 x MO = ’L‘:SODD

Solve §+x=28—x

)

L+ D= W-du
I =%

Calculate 5.06 x 7.2

In this question,a=-3,b=4and c=2

Calculate the value of each of the following

02 = (- 3)x (B)ul-3)
(i2ab = 9 x L)% 4

(iii) (3c - 2a)" —_ “o__d— _ \'Z
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Answer: ﬁ_)flo_s_mm

Answer: X = &(l'

20.4272

Answer:

Answer: (i) - D:"’

Answer: (ii) — 2 &
Answer: (iii) \ﬁ




In the diagram shown below, DF is parallel to

EC and AB is equal in length to BC.

Angle BAC = 48°
Calculate:
(i) Angle ABC
Answer:
(i) Angle BAD  SwWe oa &0 Answer:
(iii) Angle ABE  \ {0 - W Answer:
D F

/.

>

c

) (\\b /'X . l‘-;
() \&0 - x4
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In these walls, the value of each brick is made by adding the value of the two bricks

below it.

i.e.

X+y

(a) Write a simplified expression for the number in the top brick of the wall shown

below:

0} 4hic

a+2b 2b+c

(b) Fill in the missing expressions in each of the walls shown below: (write your

answers in a simplified form)

(i)

2+ -\
LA | XXy -

X X 2y -1

D)
5x + 3y ‘b *
2x DY -3y

(ii)
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10. Calculate each of the following [leave fractions in their lowest form]

3 12 _ 5 _\A ;-\5’1‘
B i35 *F Vo 2 W
- 2
- o
9 " '3 K ‘g A
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N

_Ha

Answer:

\g=)
Answer: /22

Answer: g{ ! -



11. The SINGLESUM of a number is obtained by repeatedly adding its digits until a single digit remains.
For example, the SINGLESUM of 2482 is 7 because:
2+4+8+2 =16 then 1+6=7

(a) Write down the SINGLESUM of 998. q
Answer:

Ax&x+q¢ =2b

2xb =%

(b) Find an ood number between 200 and 220 with SINGLESUM equal to 1.

e rand \O
\F
\/L‘\'\ 5 X 200, | +O ;\) Answer: '2_\%

A number is called SPECIAL if its SINGLESUM is 4 or 7. For example, 4 and 7 are SPECIAL, as is
133 because 1+3+3=7.

(c) Is 4444 SPECIAL?
LAy Qe+ Y =\o
Vv = X v

(d) Find all the SPECIAL numbers between 60 and 80.
}x;a&b)ab&ue‘\ﬁjr o \D KW"‘A“)‘“{&M
~ b\ ’ ;D:(— Answers: (3\)(0/lr ,/A/\o)j;%
S\&(Xﬂ v5\>$\" X

5 e,

Answer: \‘e s
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12. The diagram shows a regular octagon with axes at its centre.

AY

H

The line through A and C has equation x =5

(a) What is the equation of the line through E and C?

Answer: (a) - 5

(b) What is the equation of the line through A and E?

Answer: (b) ‘:‘) :‘1_

Answer:(c)_x_t_O_

(c) What is the equation of the line through H and D?



4
13. In this question, we define a new operation in arithmetic, using ‘:Q:’ as a symbol.

a«ﬁ»b=ab+a-b

vAq
For example, 3 <0> 7=21+3-7=17

(i) Calculate 5 ":C:):"Z
0 +5-%

Answer: (i) \ 3

(ii) Calculate 3 “:Q:’ %

\ )

Answer: (ii) '
(iii) Solve the equation x 4:(2)} 5=8
bx+x-5 =%

oL =1 i

Answer: (i) x = _

Now check through your work carefully!



	SOLUTIONS Year 9 (13+) Maths Sample Paper 1
	p9 and 10 Y9 p1

